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PARTI
GENERAL INTELLIGENCE

Directions (1 -9 ! In each of the
following questions select the relsted
letter f word f roumber) figore (om the
guen altrmatives

1. B3 :2b::29:%

(1125 {218
{3149 {#36
2, VIZ JLN::GIR:7
{1 @50 QRS
181 005 (41LMO
3. ABZY : CDXW : 1 EFVL : 7
(1IIRQ [2IKLPO
3 MNST [4IGHTS
4. Receplionist ; Office ; Hosiess : 7
(1 Crew (2 Hast
(A Adrpert () Adrersfl

8. NUMBER : UNBMRE: : GHOST : 2
[IIHOGST  [2IHGGTS

3 HGOTS  [4JHGSOT
8. 6:353::7:1
(148 {2142
{334 4114
7. Dog - Rabies : ; Mosquito ; 7
{1} Flague {2} Death
(A Malada  [4)Sting
8 4:24::17:7
(1137 (347
12187 (467
8. Clock : Time : : Thermometer : 7
[1] Heat (2] Radtatlon
(S Energy  [HTemperaiurs

Directions (10 - 18] : In each of the
following questions select the onewhich
is diferen: from the other thiee re

Sponses.
10. (1)BGNI  (2)CHOU
(3) DIPL () EJQL
1L (1]20-38  (2)30-45
(A50-56  (4)60- 66

12. (1)Septemker (2)April
(3 Nevember - (4) January

13, (1]MEQ (2} @50
[@vTX (4)DBF

14, (1}{48.6) {2)21.7)
(31{24.3) {41[56.7]

15. (NCarbon  [2) Graphite
(31 Diamond 4] Gokl

18, (1}49 (21140
(3112 497

17. (I)XRMEL  [2)XRMIF
(A MANLI () KSNL

18, (1) ron 12} Meretiry
[3) Sibver 4 Gold

18, Which one se: of lelters when
sequentially placed sl the gaps
in the given lelter series shall

complete il ?
a_b. bi_b__ba
{llbbaab 2bbabhb

(Blaabab Haabba
Directions (20 - 24) ; A serlesis
given with one term missing, Choase
the correct aliernative from the glven

ones that will complete the series.
20. 15 17, 20,22, 27,29.2,2
1131, 38 1236, 38
{36 43 (4} 38, 43
21. G, 2, L5, 27, 51, 85
(1}10 20
(311 412
2.258 11147
iz (2) 16
(315 14 18
23. BLCF, KMO, TVX, ?
(1} CEG 12) UVW
{3 KYE &) ACE
24. ZXUQL 7
{F 2IE
o aiH

Directlons : From the given al-
temadve words, select the word which
can be formed using the letters of the
given ward,

25. EXAMINATION
(1) EXAMINE £ NAME
MIMINOR W) GAME

28. Mohinl went tomovies ninedays
ago. She goes to the movies only
on Thursday, What day of the
week is today 7

[1] Saurday {2 Thursday
3) Sunday (4] Tuesday

27. The age of a father is twice thal
of his son's at present age. After
Syears the sumof thelr ages will
be 85. How old are they now ?
(1] 40, 20 (2 46. 23
{3 60,30 (4 50, 25

28. Ramesh drives his car 4 km o
cagt, then takes kit turn and
drives 6 km. He again tures o
his left hand side and Lravels 4
km. How many km s Ramesh
awrayr from his sturming place ?
i & km {2 10 km
(4 4 km (4] 14 km

29, Ravis [ather has a son Rohitwho
has anaunt Laxnl who has a
husband Rao wiwse father-in-
law & Mohan, What 15 the rels

tion of Mohan o Ravi ?
(1) Hephew (2} Grandfather
(3) Son (4) Uncle

30, Hyou are Bth person i & guoue
gzarting from ore end and {1th
from another end, what is the

nureber of persons In the queue?
(1 20 1z 19
fa) 21 (4) 18

31, I BEAUTIFUL is wrillen as
CDOGHJIEMN, how LEAF can

be writien in that code ?
(1] NDOK (2] KNND
FIODNK. (4 DROY

33, HA=]1, CAT = 24, then POLICE
=7
(1) 87 (2) B0
(3) g2 {4} HE

33. Five studentsare sitting in a row.
T i=on the right of 'Z. "M is on
the laft nf ‘& Bt is en the dght of
L. T iz on the leftof ', Wha i3
sittng frst from the Jefl ¥
1z =29
(AT (4 L

3. From the given altemative words,
selest Lhe word which cannaot b2
[ormed using the letters of the
Even word |
SUPERIORITY
(1) PURSE {2 PURSUIT
(%} FRIORITY (4| PURITY
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35, Shyam was facing East. He
wilked 5 km forward and then
afier turning to his right walked
3 km, Again he turmed to his right
and walked 4 lkms. Alter this he
turned back, Which direction was
he facing at that time ?

1] East (2] West

13) North {4} South

Select the alternative which is

related to the given set.

Given set is : (12, 18, 24)

[1116. 12. 30)

2115, 15. 101

@10, 16, 18)

(8. 12. 16}

. In asolid cubie whichis made up
of 27 small cubes, two opposite
sides are painted red. two paint-
ed wellow and the other two with
while, How many cubes have two
colours 7
(1) 8 () 12
(3 16 (4] 24

Directions (38 —40) : In each of

the following questions one /two state-

ments are given followed by two con-
clusions (1 and (11}, You have to con-
sider the two statemenis o be true
even if they 2eew e be at varanee from
commanly known fets. You have Lo
diecide wiizh of the given concluslons,
if any, follow from the given state-
ments,
a8. Statements :
Some books are Magazines,
Some Magazines are Novels.
Comnclusions :
1} Some books are Novels.
(1) Some Novels are Mg
(1) Oniy (I} ollows
(2) Onby (II) follows
(3 Etther (1) or (1) ollows
{a) Neither (T} nor §l) follows
38. Statements :
“Bats do not lay eges and there-
fore, batsare nol birds.”
Conclusions :
(I} Al birds lay eges.
{11} Only birds lay eges.
(1] Only (I} foliows
{2) Only (11 follows
{3) Both (1) and {11} follow
(4] Neither (I} nor (1) follows
40, Btatements :
(1} All students like excursions.
2) Some students like Laborato-
ry experiments.

NEes.

Conclusicns ;

{I} Studentswhao like Laboratory
experiments also like excur-
sions..

{11} Some studenis do not like
Laboratory experiments but
likes excurgion.

1) Only (1) follows

{2} Only (1) follows

13) Conclusions {1} and (11} follow

{4) Neither (I} nor (1l follows

If 4+ stasds for '+, '» stands '+,

* stands for '=', and '+ stands

for *=', them which of the Tollow-

inig stalernenis is correct 7

[l 36=xE6+T7T+2-6=20
2)36 + 6+ 3 x5 -3=45
BFIG+6-3x5+3=24
HIGE-6+3=x5+3=74

41.

42, f 4-4=17, 6~ 6 = 37 and
2-2="5then whatis5-5=7
(1)27 (2)26
(3) 18 {4) 20

&

In the following eguation, select

correc combination of mathemai-

ical sings to replace * signs and

to balance the eguation

164 *5*9" 1

1) ++=x (2] ++=x

A= =4 - M+ ===
Directions (44 - 48) : Select the
missing number from the given re-
SPONSES.

6 T 3
7 8 ]
“ws 9 7
B2 78 47
(14 7
38 48
45 9 4 5
12 16 15
15 20 20
180 80 2
(1) 125 &) 75
1320 (4) 25

Directions ; A word isrepresent-
ed by only one sel of numbers as giv-
en in any one of the allernatives. The
sets of numbers given In the allerna-
tives are represented by two classes
of alphabets as in two matrices given
belaw. The columns and rows of Ma-
trix | are mambered from O to 4 and
that of Matrix 11 are numbered from 5
to 9. A letter from these matrices can
be represented first by its row and

next by its column, c.g., T canzbe

represented by 00,13, 30 elc, and R

can be represented by 56, 79, 87 etr.

Identify the set for the word DEAL.
46. MATRIX -1

o[1[2[al4
o|T|C|K|K]|G
1[r[B|R[T]O
alm|p|i1[o]a
3|T|a|U[A|N
4 Y K|IPIR|Y
MATRIX - 11
5|6 |7|8|9
5|C|R|1|G|E
G| PIM|S|LI|T
7|y |nN|B[R
slalulr|o]a
glo[T|alalk
(1) 11, 23, 76, 68
(2] 21, 75. 97, B8
{3) 21, 32, 86, 89
(4] 43, 75, 89, 63

47, Among the four answer figures.

which figure can be formed from
the cut-pieces given below in the
question figure ?

V4
Tj.

) e R e

(1) (2) 3) 4

Directions : Which answer figure will
complete the question figure 7

48, Question Figure

\
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49. If a mirror [ placed on the line
MN, then which of the answer
figures is the right image of the
given question HngrE 7
Question Figure

N

th a

M
Answer Figures

e

Al [Zl2]la]| *l 7]

(1) (2) {3} f4)

B0. Find oul which of the diagrams
as given in the allernatives cor-
rectly represents the refationship
staled in the question.

Mountains, Forcests, Earth

¢ 9(®@)|om|o o

(1] i2] {3) 4)

Answer: General Intelligence

26

27

28

29

30

31

32

33

O (N | [WIN |-

34
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[uny
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38

[y
N

39

[any
(S

40

[uny
(o)}
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